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Topic:- General English

1) Out of the given four sentences, choose the one which is grammatically
correct.

1. The boys has been making a noise since morning
2. The boys has been making a noise for morning
3. The boys has been making a noise from morning

4. The boys have been making a noise since morning

Correct Answer :-

« The boys have been making a noise since morning

2) Out of the given four sentences, choose the one which is grammatically
correct.

1. She wanted an apology from the president
2. She want an apology to the president
3. She have wanted an apology from the president

4. She have been wanting an apology from the president

Correct Answer :-
« She wanted an apology from the president

3) Out of the given four words only one is spelt correctly. Find the word that
is correctly spelt.

1. Acknoledge

2. Admiration



3. Apriciation
4, Assential

Correct Answer :-

« Admiration

4) Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelit.

1. Invitation
2. Relevant
3. Irrasistable

4. Irritable

Correct Answer :-

« Irrasistable

5) DIRECTIONS: Fill in the blank with the correct Preposition.
We encouraged the use bicycle in the town.

1. from

2.in

3.into

4. of

Correct Answer :-

o of

6) DIRECTIONS: Fill in the blank with the correct Preposition.
The penalty ___ his crime was to do hard labor.

1. beyond

2. among

3. into

4. for

Correct Answer :-

. for



7) DIRECTIONS: Fill in the blank with the correct article.
She collects postcards from all over world.

1. No article required

2. the

3.an

4. a

Correct Answer :-

« the

8) DIRECTIONS: Fill in the blank with the correct article.
Marguerite teaches French at the local secondary school.
1. No article required

2. the

3.an

4.a

Correct Answer :-
« No article required

9) DIRECTIONS: Out of the given four options, choose the correct
Conjunction to fill in the blank given in the sentence.

She is not only a painter a writer.
1. even but

2. but

3. but also

4. also but

Correct Answer :-

« but also

10) DIRECTIONS: Out of the given four options choose one to join the two
sentences given below to make a meaningful sentence.

Walnut is a hard wood.



Pine is soft.
1. Else

2. Because
3.0r

4. While

Correct Answer :-
« While

11) DIRECTIONS: Out of the given options, choose the most appropriate one
to fill in the blank.

You check that document before you send it out.
1. must not have

2. could have

3. should have

4. should

Correct Answer :-
« should

12) DIRECTIONS: Find the word which can be replaced for the given
sentence.

One who is easily deceived.
1. Patriot

2. Notorious

3. Gullible

4. Polyglot

Correct Answer :-
o Gullible

13) DIRECTIONS: Find the word which can be replaced for the given
sentence.

Vehicle to carry dead bodies.

1. Dissection



2. Hearse

3. Equipment

4. Swing

Correct Answer :-

» Hearse

14) DIRECTIONS: In the given sentence there might be an error. Find out
which part of the sentence has an error. If there is no error, mark your
answer as (d) i.e. ‘No error’.

There isn't (a)/ an ATM here, (b)/ isn’t there? (c)/ No Error (d)
1. (a)
2. (b)
3.(d)
4. ()

Correct Answer :-

15) DIRECTIONS: In the given sentence there might be an error. Find out
which part of the sentence has an error. If there is no error, mark your
answer as (d) i.e. ‘No error’.

He is (a)/ one of the laziest persons (b)/ I has ever come across. (c)/ No
Error (d)

1. (a)
2. (b)
3. (d)
4. ()

Correct Answer :-

16) DIRECTIONS: A sentence with an underlined idiomatic expression is
given. What is the meaning of the idiomatic expression '‘Blood is thicker than
water’ in the sentence given below?

My friends invited me to go camping on Saturday, but I have to go to my
cousin's wedding instead. Blood is thicker than water, after all.




1. blood is more viscous than any other fluid
2. None of the above
3. family relationships and loyalties are the strongest and most important ones

4. a good friendship is above everything else

Correct Answer :-

« family relationships and loyalties are the strongest and most important ones

17) DIRECTIONS: A sentence with an underlined idiomatic expression is
given. What is the meaning of the idiomatic expression ‘at the crack of the
dawn’ in the sentence given below?

It's a long drive, so we'll have to leave at the crack of dawn if we want to
get there on time.

1. None of the above
2. very late in the evening
3. very early in the morning, when the sun rises

4. almost at midnight, when it’s all dark

Correct Answer :-
« very early in the morning, when the sun rises

18) DIRECTIONS: A sentence with an underlined word is given below. Find
the word which is opposite to the highlighted word from the given options.

I had to borrow a pen from the invigilator to do the exam.
1. take

2. ask

3. invent

4. lend

Correct Answer :-
« lend

19) DIRECTIONS: A sentence with an underlined word is given below. Find
the Word which is most similar in meaning to the underlined word.

Her behavior was very suspicious.

1. reliable



2. doubtful
3. trustworthy

4. ideal

Correct Answer :-

« doubtful

20) DIRECTIONS: A sentence with an underlined word is given below. Find
the word which is opposite to the highlighted word from the given options.

The inquiry blamed the engineer for the accident.
1. condemned

2. abused

3. praised

4. criticized

Correct Answer :-
« praised

Topic:- General Science

1) A solution of sodium in liquid ammonia is blue due to the presence of-/

Ofsaw &1 ga mfaa & a1 faea= a7 31 811 8, a8 fFae! SufRufa & SR gl 8-
1. Sodium atoms/?ﬁﬁ'ﬂmm

2. Solvated electrons/ [ddI®Idhd SaacH & HRUI

3. Solvated sodium ions/ fdam®IgHd AfSTH TRATY
4. Ammonium ions/ 3HIATH GRATY]

Correct Answer :-

. Solvated electrons/ fddI®Idd FddcH & HRUI

2) Sodium hydroxide is used:/Af3TH gESIFATSS &1 IUANT frad forar STar 82
1. As an antacid/UCIRIS & =u d

2. As a cleansing agent/ﬂW’s‘W%Wﬁ

3. In manufacture of soap/W%ﬁﬂfUTﬁ

4. In alkaline batteries/&Rig aei &



Correct Answer :-

« In manufacture of soap/ﬂﬁﬁa?ﬁﬂfwﬁ

3) Winds are generated due to heating on the earth./ g I4A Blal
2 wud, ¢ P THER BRI

1. Direct or Indirect/ UH& a1 JUIEl
2. Indirect/ 3UI&
3. Direct/ UJ&

4. One of these/ 370 I T&H

Correct Answer :-

« Direct/ Y&

4) Formation of curd by milk is done by-/ §Hﬁ3"€fﬁﬁﬂfﬂﬁﬂ%—
1. Yeasts/ U

2. Lactobacillus/ daeisRie™

3. Moulds/ AIcEY

4. Algae/ ard

Correct Answer :-

. Lactobacillus/ daeIaRed

5) Male hormone is-/ 7R gIH &-
1. Testosterone/ CXERCIIA

2. Progesterone/ UoReR(A

3. Corpus luteum/ ®ITY gfead

4. Gonadotropin/ Tﬁﬁ@'@ﬁ:{

Correct Answer :-

« Testosterone/ TR

6) Light is-/ UTI 8-
1. Massless/ GOHMo
2. A longitudinal wave/ U@ 3fJcsd A<l



3. An electromagnetic radiation/wﬁwwm
4. All of the above/ SWRIad IHI

Correct Answer :-

« An electromagnetic radiation/ T fdgad ey fdfdbur

7) The force exerted by one object on another by virtue of their masses is-/
% fUvs gRT g fIvs W IUS SoauT gRT AT 1T 9 8-

1. Magnetic force/ &I a0
2. Electrostatic force/ fagad ad
3. Gravitational force/ TR=cIg g

4. Frictional force/‘aEfUTEﬁf

Correct Answer :-

. Gravitational force/ =i &

8) Many salts absorbs water from atmosphere. This property is called? /ddul

JTATaRYT V U B TG B & 59 0T D1 FIT HgT 1T 82
1. Deliquescence/Udad

2. Efflorescence/Ugheridl
3. Hydration/STadie
4. Addition/Iarsi

Correct Answer :-

« Deliquescence/U&de

9) Pumping station of blood is-/ T BT UfRAT W 8-
1. Auricle/ 3ferg

2. Blood vessel/ Y& d1fgHl

3. Ventricle/ ey
4. Heart/ g9

Correct Answer :-

o Heart/ gad



10) Which one of the following planet has the longest day:/ FU A3 fFa e w®
&1 &1 SravTa Siftr B:

1. Earth/ gedt
2. Venus/ Y[sh
3. Mercury/ g4

4. Mars/ HTd

Correct Answer :-

« Venus/ YP

11) Which of the following non-metals occurs as gases? /% Jurgafi & I ST
AT SrawT # UTaT ST 32

1. None of the above/37H ¥ &5 !
2. Both the above/G'qﬁTﬁ?ﬁ:ﬁ

3. Chlorine/ddRH

4, Nitrogen/ﬂ]’{@ﬁﬁ

Correct Answer :-

« Both the above/ﬂﬁaﬂﬁ:ﬁ

12) Which of the following is not a part of female reproductive system?/ 4
H | PIH-TT HIGT - oF BT T 781 82

1. Oviduct/ 3Ugaifg-T

2. Embryo/ YUl
3. Uterus/ Ty

4. Ovary USRI

Correct Answer :-

« Embryo/ YUl

13) Which of the following is noble metal? /f=fifad & & HiF-31 Ipte urg 82
1. Copper/ﬁtl?

2. Aluminium/TegHITaq

3. Iron/3ARA



4. Gold/aAT

Correct Answer :-

. Gold/dHT

14) Speed is never:/ I1d HHt ft 78 8 gl
1. Negative/ BUMTHD

2. Positive/ YITH®D

3. Zero/ [
4. Fraction/fHaTH®

Correct Answer :-

« Negative/ BUMTHD

15) A cannon after firing recoils due to:/ Wﬁﬂaﬁﬁ%mmﬁﬁé:
1. Conservation of energy/3ull TR&UN & HRUI

2. Newton's first law of motion/W%ﬁ%UWﬁW%W

3. Newton's third law of motion/=gc &1 TIfd & qclid g9 & HRUI

4. Backward thrust of gases produced/@ﬁﬁ@f%%ﬁ 3R UG o HRU

Correct Answer :-

« Newton's third law of motion/@?ﬁﬁ%ﬂ?ﬂﬁﬁﬂﬂ%W

16) An amoeba ingests food by-/ 3HiaT Yo sEaufed a1 8-
1. Tentacles/ icdHTail gRI

2. Feeding tube/ WATAI®T gRT

3. Cilia/ UGHIH gRT

4. Pseudopodia/ %< UTGl §RT

Correct Answer :-

« Pseudopodia/ %< UGl gRI

17) Plant cell does not have-/ UGy HIfRr®131 & SufRUd gid 8-
1. Cell wall/ BIfRrepT ot



2. Chloroplast/ gd da®

3. Lysosome/ A3dEH
4. Vacuoles/ Rfgdesr

Correct Answer :-

. Lysosome/ﬂT%@@'q

18) Formula of Gypsum is:/ foreqW &1 37 |1 3?
1. (CaS04), .H>0

2. CaS04. 2H,0

3. CaS04. 1/2H,0

4. CaSO4

Correct Answer :-

« CaSO4. 2H,0

19) In an electrolytic cell, the electrode that is connected to the positive

terminal of the battery is called-/ WWWWﬁWWﬁH%
YT efifear & Ty T far SiraT 8, 39 ®ed 8-

1. Anion/ TA—IT

2. Anode/ TS
3. Cathode/ HUIS

4. Cation/ HeTd

Correct Answer :-

. Anode/ﬁ:ﬁ_s’

20) In five minutes distance between a pole and a car changes progressively.
What is true about the car?/ UTd fiHel # &R YT T UId & A P gt Iaq 7
Tl T}, PR & IR & 1 T 22

1. None of these/s_rlﬁﬁﬁ's:qﬁ
2. Nothing can be said with this information/ww:@'ww
3.Caris at rest/WﬁTﬂ:{ﬁ%

4. Car is in motion/ PRI HE

Correct Answer :-



e« Carisin motion/$|'\”'ﬂ?fff%r

Topic:- General Knowledge

1) Parsili is situated along the river: /URifelt H19-8 98 & fFIR RG22
1. Kali Sindh / et ¥y
2. Betwa /aﬁ?ﬂ

3. Banas / 9111

4. Mahi / A1i@

Correct Answer :-
« Banas / 999

2) In which year was Bhopal merged into Madhya Pradesh?/ AU | YT
e o & faera gam ur?

1. 1956
2.1958
3.1952
4.1954

Correct Answer :-

« 1956

3) Bhedaghat is the tourist-spot at:/ WSTUIC B8l BT Tde-Rd 82
1. Jabalpur / SR

2. Panchmarhi /dilﬂ'e_ﬁ

3. Ujjain / I

4. Maheshwar / Ag%R

Correct Answer :-

« Jabalpur / SI§cIYR

4) Ghatigaon wildlife sanctuary, Gwalior was established in the year:/9Teiq

TG UYRVY, qIferaR &1 RITYT fovw ad & g8 iz

1. 1989



2.1981
3.1984
4, 1992

Correct Answer :-

« 1981

5) From which district does the Ken River originate?/ﬁﬁﬁ'@ﬂﬁ?ﬁﬁ@ﬁ?—ﬁ
fora ¥ &7 98 Fpadi 82

1. Jabalpur/ SIgefqR
2. Indore/ &R
3. Bhopal/ Hird

4. Anuppur/ 3AJUYR

Correct Answer :-

« Jabalpur/ SIgeT4R

6) Which of the following places have Special Economic Zones in Madhya

Pradesh? /9% uex § fAuferfad wiel & @ w8l faviv enfie &7 82
1. None of these/378 q &g gl

2. Indore/‘s@‘cﬁ?
3. Gwalior/W TR

4. Both of the above/IWRIad &l

Correct Answer :-

« Both of the above/IWRIad &I

7) Which of the following places is famous for metal crafts, especially
chariots and brass horses with wheels?/fafefaa o & #1931 w1 urg Rrew,
iy Ty 3R fide & 91 ufRal & R ulRrg 82

1. Tikamgarh/<IeHTG
2. Seoni/ﬁlﬁtﬁ

3. AIirajpur/&EiRlﬁng

4, Balaghat/dTdTdrc

Correct Answer :-



« Tikamgarh/d&HTe

8) Who out of the following had invented a polynomial algorithm for linear
programming?/fAafifaa # @ fewa Yae mwfi & i sgug venfie &1 snfase R
forar um?

1. Ashutosh Rana/ T[S 70T
2. None of these/@ﬁﬁﬁ%ﬂﬁ
3. Narendra Karmakar/™g $HBR

4. Raghuram Rajan/YRTH eI+

Correct Answer :-

. Narendra Karmakar/m™g $HBR

9) Recently which of the following was inaugurated at Bhopal by P.M.

Narendra Modi?/gTd & # U= 631 g At A Hiure # Fafafeaa d 3 f59 o1 3qareq
forar ur?

1. Habibganj Railway Station/gaiavisl ¥ald TR
2. Bhopal Haat/ﬂ-htﬂﬁgl_c’

3. Shaurya Smarak/@ﬁw
4. Solar Park/9R &

Correct Answer :-

« Shaurya Smarak/@ﬁw

10) Rewa will be getting the world’s largest:/ ﬁmﬁﬁqmma@n ...................
fafifa g |

1. Sugar Mill/ Tgp-Id

2. Oil Refinery/ dd GRRIEARITET

3. Solar Power Plant/ IR vl ¥

4. Food-processing Industry/ T TRIHROT ST

Correct Answer :-

« Solar Power Plant/ IR $vll T4F

11) The recitation of the Bhartrihari folk lore is practiced in the region of: /

Ygek desa HTurs Fu A I fra A grar 82



1. Bundelkhand/geags

2. Chitrakoot/fX=®e
3. Nimar/ EIHIS

4. Malwa/HIddl

Correct Answer :-

« Malwa/HIddl

12) The ‘President’s Rule’ was imposed in Madhya Pradesh for the second

time in the year - /gu¥l IR "gUfd A" 79 Y # forw 9o & emman way ur?
1.1980
2. 1979
3.1977
4.1982

Correct Answer :-

« 1980

13) The Hoshangabad Security Paper Mill was inaugurated by Morarji Desai,

who was then the:/gIATETE UfaYfd HTTH SREHT BT SguTe HRRSI ¢HT8 = forar o,
St Ao 2

1. Chief Minister of Madhya Pradesh/H¢ TR & &
2. Prime Minister of India/YRd & U&TH H3l
3. President of India/HRd & Igufd

4. Deputy Prime Minister of India/HRd & 39 U™ H31

Correct Answer :-
« Deputy Prime Minister of India/HRd & 39 U™ H31

14) The Bhils of Jobat are well-known for making: /SiaTd & Hid {5 yoR $1 g3
CRIGEF:

1. Woollen durries/Wﬁ aliq‘f
2. Plastic durries/TITW G oo |
3. Thread durries/STT gRaT

4. Punja durries/4sT gRal



Correct Answer :-

« Punja durries/gsT giar

15) The commonly spoken dialect in Satna is: /a1 H STHER UR aYelt S areft Sieht
®H-d g2

1. Urdu/Bﬁ

2. Odiya/3fif&ar
3. Bagheli/@ﬁ?ﬂ
4. Maithili/afe

Correct Answer :-

. Bagheli/a’a?ﬁ

16) Mamta Sharma is a famous:/mWWﬁ@'ﬁ_?l
1. Singer/Tr@W

2. Author/ﬁw

3. Philosopher/m

4. Scientist/d3A®

Correct Answer :-

« Singer/TMRAHT

17) The image of goddess from Bhojshala Temple of Dhar is now displayed in
a museum at: / YR & USRI e 9 ¢t &1 B 3@ T ue GUTad | uehkia ot
T3

1. Manchester/ BeReR
2. Paris/ Ui
3. New York/ T!ICF\I%

4. London/ digH

Correct Answer :-

« London/ dcd

18) How many sections of the Bharat Bhavan building are there?/HRd

Yaq ¥ faa aif 22



1.6
2.4
3.5
4.7

Correct Answer :-

« 6

19) Who is the Madhya Pradesh Cabinet Minister for Revenue? / HHAUCY &

I & Bfee TR B §2

1. Rajendra Shukla/ TI@ITS{W

2. Umashankar Gupta / SHRI®BR Tl
3. Antar Singh Arya/3idR g omf

4. Paraschandra Jain/‘TRﬂ?!r_s‘Za?

Correct Answer :-

« Umashankar Gupta / JHTRIDR Tl

20) In which city is the Rani Durgawati museum situated?/ W?,‘Th?ﬁm
P TRARE3?

1. Mandsaur/ HEOR
2. Bhopal/ U@
3. Khargon/ LCRIE|

4. Jabalpur/ SdcyR

Correct Answer :-

« Jabalpur/ S&elYR

Topic:- General Hindi

1) I Xeq BT YATgart g :
1. 3fd
2. dferd

3. TR



4. HYU

Correct Answer :-

2) PHGR W2 /AN AR /IR FTRTHH Il 7-ufea A 3
1. 3(Afad PR

2. Tgifad SfAPR

3. ThITad SABR

4. IR PR

Correct Answer :-

. gopifad SABR

3) ‘Consent’ &1 fgdl TR IS s % :

1. SHfHPfA
2. fTd

3. Wipfd
4. fAepf

Correct Answer :-

5) 30T e BT AT T B
1.dlg



2. Ucted
3, fogmon
4. TAIDH

Correct Answer :-

6) Wd IGAT YeTaX BT ATRA @ :
1. 9d R @A
2. dRAIfd O

3. BYd §dic gl

4, 3ad gHT

Correct Answer :-

7) 99 YU fAeaifl, 99 $US <Er- area @
1. SR D dIH

2. THBYAD dIH
3. fay™aras are

4. b drfe arR

Correct Answer :-
. dhdide g



9) AP HT A T B :
1. TATTAA

2. TTfcrRite

3. TATTCrRitel

4. 9lg

Correct Answer :-

10) ‘HeATE § HeH ERT- AT ©
1. FYeRe G=mT

2. fo A g SR

3. HIASIYD AT
4. Tafegae ST

Correct Answer :-

. PIASIYD JITAT

11) SIS TG & :
1. dogH
2. faa=h
3. daad
4. QRIS

Correct Answer :-

12) oo WA E :
1. 3T WR Y

2. g TR 4

3. o iy

4. oot 6fyr

Correct Answer :-



13) et FraTdt FRTET B B 2

1. DT
2. Sfefer

3. HeR[Ullen[ Hetd
4, §!E|g|a|ﬂ

Correct Answer :-

14) AU ¥ G o’ TUMIR U HT USRI g1 8 :
1. TTferR ¥

2. HIOTd ¥

3.3GR Y

4, SIAR I

Correct Answer :-

15) FHfyaR fgriara #t $fa e gaus’ 2

1. Jaddh bl
2. WSHh[H

3. MideT™
4. fdeTy

Correct Answer :-

16) fohaw Sof BT HH ded 31 TR i UTT WP w3 A srgfaen T gt 8
1.9 H

2. GadhpId |

3. HedhId A



4. UeYHTg H

Correct Answer :-

17) fafafea o faaw sg-gu =8 8
1. Freard- oy

2. THA-G-RITHA

3. 3FTI-3FTSl

4. 3maTa-fafd

Correct Answer :-

. Freard ey

18) Faffea A gs a8
1. 39 TS &1 5 FT 81 Il g
2. T8T HRI-WRHH Hig 5 ot

3. 7 T BT 3101 TR ET &

4. 3T U Y=gdIe-qigd ol

Correct Answer :-

. BT BT 3T FR TR
19) FEffead s I=< @ :
1. 3fafgd

2. 3deg

3. 39d gt

4. fafdr

Correct Answer :-

. Jad gl

20) fFrafafaa ¥ gur=ia fUards g<-gm a8t e
1. N-URE™



2. Bifd-shifd
3. pSd-pdd
4. foar-arar

Correct Answer :-

Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series:/ﬁﬁ"\’r: 7:33‘5‘
w@ 4oft § Terd ug e S

1.2, 1.25, 245, 3.7, 6.25, 9.85

1.9.85

2.2.45

3.6.25

4. 1.2

Correct Answer :-
e 6.25

2) The sum of four consecutive even numbers is 300. What would be the
smallest number?/dR FHNTA TH ST BT AN 300 2 | I BIT =T HT ERI?

1. 66
2.74
3. 68

4.72

Correct Answer :-

3) 2 men can complete a job in 8 days working 8 hours a day. How many
men are required to complete twice the job working 4 hours a day for 4

days?/2 3eHl fhdft o &Y 8 He ufafew #d gu 8 fea ¥ 1 3% Twa 21 S w1l & ahpAn
P DI 4 G UlafeT Hed gU 4 &7 ¥ 1 w3 & fore fova= sefrai ot smraxasar gift?

1. 32

2.48



3.16

4.24

Correct Answer :-

4) The cost price of 25 books is equal to the selling price of 20 books. The

profit percent is:/25 J¥®| &1 HIY, 20 TP & [GHayed & SR6% 8 | a1 ufa=ra
ELIEY

1. 25%
2.22%
3. 24%

4. 20%

Correct Answer :-

e 25%

5) The roots of the quadratic equation x2 - 11x + 24 = 0 are:/fgara FHfiHr x2
-11x+24=0% A ¢:

1.6,5
2.-3,-8
3.3, -8
4.3, 8

Correct Answer :-

6) Rajni, Geeta and Savita alone can complete a task in 20 hours, 30 hours
and 40 hours respectively. In how many time they complete the same task

by working together. /31, a1 3fiv Tfaar areT-3renT foredt w1 &1 o 20 °e, 30 G
3M¥ 40 6 T R H AH«t g1 A i U A1 39 R B fhaq awg § g1 S

1. 55 hours/55 ard

73 73
2. 2 hours/ 2 e
5

5
S R 8-
. 9 hours/ 9 dc

3



3 3
9

- g_
4, L3noursy 13 @e

Correct Answer :-

9 3 9 3
e 13hoursy 13 g

7) The respective ages of a father and his son are 41 and 16 years. In how
many years will the father be twice as old as his son? /fUdT 3R T3 Ft Mg HU:
41 99 3R 16 99 81 fraa aut & a1 frar &Y 39 T3 &) 39 F1 SR g ogfi?

1.9 years/9 L
2.10 years/10 ay
3.19 years/ 19 @§

4,15 years/15 Gl

Correct Answer :-

e 9 years/9 G

8) The height of an equilateral triangle whose perimeter is 72 cm is:/72 I+t

TRATT a8 JHETg Y $t Ha1s 19 BT
1. None of these/sﬂﬁ@fﬁ'sc:@
2.9cm/9@1ﬂ

3.12 cm/ 12 9Ht

= =
4. 1243 cm/ 12»3@1;]3[
Correct Answer :-

. 1243 ) 1243 gfy

9) The average age of 3 friends is 23 years. Even If the age of 4" friend is
added the average age remains the same, Then the age Of the fourth friend

is: /<1 o &Y oia oMy 23 ol 31 gTanifes afe o i ot sy wits <) wime «t oft st emg
a1t € el 8, ot N o Y oy fbarit 22

1. 20 years/20 ¥
2. 23 years/ 23 qy
3.22 years/ 22 dY

4.21 years/ 21 99



Correct Answer :-

« 23 years/ 23 ¥

10) A man travelled a certain distance by train at the speed of 25 km/hour
and walked back at the speed of 4 km per hour. If the whole journey took 5
hours 48 minutes, the distance was:/U® afd, 25 f&Hl/9veT & 9ra Q I qrelt
IS} gR1 TS FAfa g8t 99 Fwan 8 a1 agt g3t a1 4 foelt/ e Y ara A Uea gawk a9
Hdl 81 f M-I § 3 a1 JHT 5 gUe 48 fiste e gt at gt A

1. 25 km/25 fobdit
2. 20 km/20 ot
3. 30 km/30 fod
4.15 km/15 fodit

Correct Answer :-

« 20 km/20 foHt

11) A truck covers a distance of 550 metres in 1 minute whereas a bus covers
a distance of 33 km in 45 minutes. The ratio of their speeds is:/T® ¢& 1 fiFe
# 550 Hiex gt a0 HRar § Tafd U 79 33 fo5ti 3t gt 45 fime ° aa o=l g1 391 nfd &1

&ﬂ'ﬂﬁ'&ﬁ"‘l'r:
1.7:3
2.50:3
3.3:5

4.3:4

Correct Answer :-

12) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ fe=r: F=IfafEd U= o u=am® g (2) & I W |1 3T

L5 3l
10— 11— 28_-2=2
7
1, 24
5
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3, 24
17
4, 24

Correct Answer :-

13) DIRECTIONS: What should come in place of the question mark (?) in the
following series?/fAdxr: Fafafad ot & uyares fog (2) & WM R F1 3T A1fldw?

80, 370, ?, 1550, 2440, 3530
1.900
2.750
3. 840
4. 860

Correct Answer :-

- 860

14) One number is 25% of another number. The larger number is 12 more
than the smaller. The larger number is: /T® BT, TP G WBAT B 25% g1 T8t
=T, B G112 3f¥e 81 9t T= 8

1. 48
2.4
3.12

4. 16

Correct Answer :-

15) The area of a triangle whose sides are 30m, 32m and 34m is: /39 f?fHGlﬁT
AFTBd FT BT forget Yomg wusr: 30 W, 32 it qur 34 1t 31

1. 48 m2/ 48 ™2

2.72 m2/72 Hi2

3. 24V21 2/ 2421 2



IETE IETE
4, 96721 m2/ 96v 21 2

Correct Answer :-
. 9621 m2/ 96v21 112

16) A sum of money doubles itself in 12 years at simple interest. What is rate of

interest? /13 ITRT ATURUT TS R 12 TUF A IAD! SR 81 AT 3 | AT B g2 1 82

1
1. 73%

1
2. 93%

1
3. 63%

1
4. 83%

Correct Answer :-

17) How often will five bells toll together in one hour if they start together
and toll at interval of 5, 6, 8, 12, 20 seconds respectively? /Ui Hfeqi T& G A
mﬁmaﬁﬁuﬁ%wmumwzﬁ?ﬁ%amm. 5,6, 8, 12, 20 ¥Hs & Aaa A
qoelt 82

1. 35
2.120
3.31

4. 29

Correct Answer :-

18) What number has to be added to each term of 4 : 6 to make the ratio 6 :

7?2/ 4 : 6 BT 3UE 6 : 7 HI P T IS UA® Ul A T Sis-T Afee?
1.6

2. 10

3.8

4.4

Correct Answer :-



19) Find the smallest of the following fractions./fAuferfad i # § a9 B1d
= I B

242
4. 281

Correct Answer :-

18
o 37

20) Find the largest of the following fractions./fAafefaa firsl 4 & 9 581 fu=
A B

%
1, 14

35

2. 16

154
3. 75

285
4 142

Correct Answer :-



